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= 195,434
= 892,077
Al 1,773,864

SO H =S 4,662,029 4,815,252 N 153,223
= 1,800,654
= 195,434
== 892,077
Al 1,773,864

ZoeI=2X(EX) 133,380 387,360 A 253,980
== 40,014
Al 93,366

101 2124 d| 133,380 27,360 106,020
& 40,014
Al 93, 366

10 JIZHZ2XNEES 133,380 27,360 106,020
OSHsS el =01 HHXI(4Y) 133,380
< 40,014
Al 93,366

HM+(EX) 1,841,337 2,361,247 A519,910
= 1,288,936
Al 552,401

301 Let8gAa3a 1,841,337 2,361,247 A519,910
= 1,288,936
Al 552,401

01 MIBEHGHZ2 1,841,337 2,361,247 A519,910
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Al 28,159
301 ptsazg 93,864 110,481 216,617
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Al 28,159
01 A2HE =53 93,864 110,481 216,617
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= 65,705
Al 28,159
ZOHQIRHAEHI (EX) 5,000 10,868 25,868
= 4,000
Al 1,000
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= 4,000
Al 1,000
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= 6,306
Al 1,577

01 Atgl 7,883 7,883
OZ O Bl X2 (201Y) 7,883
= 6,306
Al 1,577

INESESJU TR 81,600 81,600
= 57,120
& 12,240
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= 6,800
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OFHI ARSI Pl 600,0002 *20CH 12,000
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301 LPAZ 30,200 0 30,200
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307 QI2H0|H 194,800 82,200 112,600
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Ha=x 17,116,671 13,515,491 3,601,180
= 6,892,441
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= 916,313
= 3,302,243
Al 5,821,944
EEVEE" 1,316,812 1,149,646 167,166
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= 59,216
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Al 29,608
02 BIAAMBE 118,432 115,740 2,692
OJEZ=aeL 29 N 59,216
= 29,608
= 14,804
Al 14,804
OsZaNYL 2% N 59,216
= 29,608
= 14,804
Al 14,804
It Ee HENoiEE L WA (2X) 21,843 22,700 857
p 14,890
= 3,476
Al 3,477
307 2I2H0IH 21,843 22,700 857
p 14,890
= 3,476
Al 3,477
02 BIAFMBE 21,843 22,700 857
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p] 13,890
= 2,976
Al 2,977
OJE - S= WK 224l 2,000
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= 8,245
Al 19,237

301 YsrEAZ 137,403 108,490 28,913
= 109,921
= 8,245
Al 19,237

01 AISIEHEAGS 137,403 108,490 28,913
OIS HHAYS - DKH| X2 137,403
=2 109,921
= 8,245
Al 19,237

GESISXNME SN (2X) 70,000 50,000 20,000
= 49,000
= 7,000
Al 14,000

307 SI2t0lH 70,000 50,000 20,000
= 49,000
= 7,000
Al 14,000

02 PIAHAMEE 70,000 50,000 20,000
OU23st IEXRME 2 (1HA) 70,000
= 49,000
= 7,000
Al 14,000
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p 168,840
= 24,120
Al 48,240

307 SI2t0lH 241,200 301,660 60,460
p 168,840
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T 24,120
Al 48,240

OIOIS E0IXJAIE (BEX) 104,000 138,000 A 34,000
= 72,800
& 15,600
Al 15,600

307 QIZtoIA 104,000 138,000 A 34,000
= 72,800
& 15,600
Al 15,600

02 QI2HEAAMNEX 104,000 138,000 A 34,000
Ootol= =0l 104,000
2 72,800
T 15,600
Al 15,600

HAASIZHEH(EX) 15,080 14,600 480
== 4,736
Al 10,344

201 LB IH| 7,200 7,200 0
= 2,160
Al 5,040

01 ArR2t2|bl 7,200 7,200 0
O2g+y 7,200
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< 2,160
Al 5,040
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= 576
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O =2tAIY 5,000
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Al 3,000
HE=ZAML(Ex) 11,500 9,000 2,500
& 3,450
Al 8,050
307 glz2told 11,500 9,000 2,500
& 3,450
Al 8,050
02 BlZtFAE=X 11,500 9,000 2,500
OH0HH. =8 2= 11,500
= 3,450
Al 8,050
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& 51,954
Al 108,226
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& 50,490
Al 104,810
01 ASI2E A5 155,300 156,300 21,000
OME X 3 (6AHIT 18,000
= 9,000
Al 9,000
O=AZad(3Y) 1,500
< 750
Al 750
Ot 24| (200 80,000
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Al 1,400
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307 QIZ2t0IA 4,880 4,880 0
& 1,464
Al 3,416
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Oo=2g=¢ 37,560




2AM: AtRIS X0
=R

Sl Ol =TT CRRE]
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 ﬁii HRs2
—2S0[0IX FOIUBA BB (16F) 26,760
< 10,704
Al 16,056
—ZE01UXXE s20ES(15F) 10,800
= 3,240
Al 7,560
301 ptsazg 6,000 0 6,000
= 4,200
Al 1,800
TIEEEEESE 6,000 0 6,000
OZ20I2IT =eis eyl
100,00024 10 *6 74 6,000
< 4,200
Al 1,800
307 21201 H 19,000 26,000 AT7,000
= 5,700
Al 3,300
02 QUtFAE X 9,000 16,000 A7,000
OZE0I2IX EFHLI BO0iFD| 9,000
= 2,700
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= 2,700
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